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<

n0

Kio

Hl w

H3r
Wikd
RIS

234,000

234,000

Off &t 24

11,000
11,000
11,000
11,000
11,000
11,000
11,000
11,000
11,000
11,000
11,000
11,000
11,000
11,000
11,000
11,000
11,000
11,000
11,000
11,000
11,000
11,000
11,000
11,000
11,000
11,000
11,000
11,000
11,000
11,000
11,000
11,000
88,000

15,000

234,000

234,000

2 2t 2|
2te

=

HIlZ X2
cliolone &

M

L=}
el

X ZH -

At
At

prnl
=)
prnl
=)

2 Ul S A

Bi==2 ZHl
Bi==2 ZHl

=2
=
=2
=

=0t

£
O =0t

O

M0

-

K0
H

Ho
ol

a
K
30

At

el
=)

Bi==2 ZHl

(=

=

O gt

[0

K0
H

ol

Mo
K0
IH

Ll

ol

O MEoit

S A
At

prnl
=)

Bi===2 ZHISAH

ti=2 ZHl
Bi=2 ZHl

=2
=
=

=

| OF

PN
&

O OioIot

O &0t
ok

H0
RO

ol

KJ
Ol

At
At

prnl
=)
pnl
=)

th==2 HHl
=2 HHl

=
=

=

Ot

O g4t

M0

-

K0
H

Ho
ol

20

o

Ho

RO

Ho
ol

O g2

At

prnl
=)

bBi==2 ZHISAH

Mo

)]
A

ol

KJ
ol

RO
nO

H0
K0
IH

Ho
ol

ol

<0

=2 FHS

=

=0ld

F

~J
oJ

402

P AR 2 (KERI TN

)

&

=

~J

ol

600,000

2,000,000

7,847
77,000
49,153

100,000

2,600,000

(=

=

2«20 CH

=

=

[l

2 +40H1 Ot

=

3,850,000

=Py
25,000,000

O &g cetv £X

OHE X EHl At




A BIAEAY A
X Hols AE2e

R MYIDIHE A 2tel (e H)
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SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
= 1,300,000
2 44,422
TH 1,255,578
401 AlEHIZL £ 0HY| 2,600,000 2,000,000 600,000
= 1,300,000
2 44,422
TH 1,255,578
01 Al&H| 2,598,000 1,998,000 600,000
O D2 HgH =802 HUHAY
2,598,000,000& « 1Al 2,598,000
2 1,300,000
= 42,422
TH 1,255,578
03 AlE 21| 2,000 2,000 0
O N&EZ HEgd &=&80l8 UMY
2,000,000 =14l 2,000
BtHI| = AlE 22 3,202,830 2,258,694 944 /136
& 13,500
= 3,189,330
HIISHE AL 24 634,727 741,605 A 106,878
101 Q124 H] 6,750 6,750 0
04 JI2ZtHIZ22NEES 6,750 6,750 0
O HIIZ2 HEANE =4 =& o2
150,000& »5H 3L x33| 6,750
201 gEt24y| 330,800 353,980 N 23,180
01 AP 22| H| 37,700 39,820 AN2,120
O HZU HII&EA 1,000, 000& *13] 1,000
O HIISMWEAIE EE3x HINZBA =52
340,000 x123] 4,080
O HIISMHEAIE Xotx=ZAIE HIIEA ==
2 200, 000 *4 4 A *4 3] 3,200
O UAZHA =2 45 ,000& *2JH A= 83| 720
O JdIItEEE HElx=2
315,000 *3M A~ x12& 11,340
O Sge2EMd 223 1= 8,740
-2F= 120, 000& 19 23| 4,560
- gst= 150,000 »19H 2,850
—-OtN 3 S 70,000& x19H 1,330
O &gsE &24322 S 6,180
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8,000 x3H 60 1,440
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X Hols AE2e

el SZIIZAE 22l (=& J)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
O &&= HMelAlE J1H &8 =zl
1,600, 000& *53| 8,000
O &&= 0sRESFHI ol 1,700
O &Zels s dA=7A 2eld| 4,000
O HZAE =2l 1,350
O dela=x=g)| s 372+7¢ 900
O HdIR3B 220,000
O ggAL=s) gy 150,000& *53| 750
O EEHIRSH(2AI12 28) 30,000
O &K F 4l 450,000 x2CH x128 10,800
O XIHEHAISU=s 720,000 *2CH 1,440
O STHIMAMSAS (A2 28)
900,000& +3CH 2,700
O S&H |X22B(2AI2 28)
900,000& *3CH*33] 8,100
O XX 2eltl 3,360
202 odl 3,923 4,218 A 295
01 = LH o4 1l 3,923 4,218 A 295
O HIISHEAME =& 0Hl 3,923
206 M= Hl 25,950 85,950 260,000
01 =8l 25,950 85,950 260,000
O &= MeAMd 457Y 7,000
-EHM 7,000&+104 =100 7,000
O &&= HMelAlE JIHNMzE ¢
400,000& x45+33] 4,800
O NEHE " F(4L)
150,000 » 12+ A 150
O HIISHEEH A=SA%E P2
12,000, 000& =12/ 12,000
O &&= XM2JI #I)ME & #L 2,000
301 LBEHZ 201,904 190,707 11,197
12243 201,904 190,707 11,197
O sHEHIISSE M AIE Md| gt 2 Al
= 201,904
A== 138,290 365 *3H 151,428
-0 151,427,550 *1/3 50,476
401 Al I 28I 64,000 100,000 236,000
01 A& Bl 64,000 100,000 A 36,000
O FAX(LELA) CIXtL HA
1,600,000& »40CH 64,000
405 THebH S| 1,400 0 1,400
01 XAt 2 ZFH S| 1,400 0 1,400
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-8y 141,060 » 1Y 252 35,548
-F54 141,060& =1 523 7,336
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02 35244l 24,250 27,450 AN 3,200
O SAZSEH 08B Z 42 337,500& 43| 1,350
O T2H21 HIHE WA 540,000& =63 3,240
O 33 2 JEeA28 A 1,800,000& * 14 1,800
O JIHERE % 270,000& *43] 1,080
O PHEIM S 2 135,000& *63] 810
O x=FAXTEBHAAN 2 90,000& *43] 360
O A3 Mol WM 90,000& *123] 1,080
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O geEsR 2] 1,530,000& * 14 1,530
O gg) sgaed A 3,000,000& x13] 3,000
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O 221 & s A 3,000
206 M = Hl 69,680 104,680 A 35,000
01 & bl 69,680 104,680 A 35,000
O SA2 €2l Hel 42372 4,680
- 0|42 M 3,000& *x302| Ef{ *52%F 4,680
O SASHaH e 2dHMAHA 457 30,000
- S 45E 10,000, 000& 23| 20,000
- FA 10,000
O SAZS2XEH S8 2¢ 35,000
401 Al HI L £ 0HHI 298,000 338,000 A 40,000
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O SAZ2 XM2AIE Kot tha=EBIZAlE &X
10,000,000& =14 4~ 10,000
O SAZSFHIIZ2 €2 2K 288,000
MEEE Hd8AIE 2 35,210 36,460 A 1,250
201 et A H| 16,570 17,820 A 1,250
02 3294l 16,570 17,820 A 1,250
O =) 2(EH 25012 25 ) 2,250
O AEZE 280 % 450,000& *43| 1,800
O HEHII=S WMl =2l 900, 000& *23] 1,800
O MeEsSE 28tetA 22| 1,625,000& *2CH 3,250
O ZHOoI HHE=C| 450,000& *54] 2,250
O EmMI & L&Es2 ¢ 3,420
-y 540,000& *3&= & 1,620
-JdelA 108, 000& *5JH 540
-JleY 90,000 *8IH 720
- AEd8)] EHR 3,000& *1804 540
O MNeES A48 IS LA
1,800,000& * 14 1,800
206 M = Hl 18,640 18,640 0
01 = bl 18,640 18,640 0
O NegEE 2eldges o=
300& *1,400& x12& 5,040
O ME2E HdEJ|H NI (HL=ED| 2 4
=) 2,000,000& x5& 10,000
O MeEssdgEl e 88 & 377Y
300,000& x12& 3,600
S XelAE 29 161,109 228,972 NB7,863
201 LEr2 Y| 87,082 140, 138 53,056
01 AR 22| I 6,582 35,538 N 28,956
O JIEMHE B2 £ HAEE 2,160
-JIEMNAHE B2 & SEX
45,000& x23| 128 1,080
-HAEEZ(UXR A E) 90,000& x12& 1,080
O &g=s MEsE3 S 27,0002 x3&E 122 972
O 2 X2ANE 57 8 227 3,000
O 2= XMel& Zelyd gX22d
450,000& = 14! 450
02 332494l 80,500 104,600 A 24,100
O 2o XAl A2 |XH 4,500,000 14 4,500
O 2aXdelAld DAzl & A
15,000,000 =14 15,000
O 2o XHlAAE IS A-MA 30,000
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O gEZglA 22D 15,000
-8Z 22,28 WHMS 15,000,000 14! 15,000
O gD A==3gHo 9,000,000 » 14l 9,000
O EH:AE KX 2t 5,000,000& »14! 5,000
O ety 2,000,000 » 14 2,000
202 o4dl 3,287 3,534 AN 247
01 = LH o4 4l 3,287 3,534 AN 247
O 2L EH 423 M2z S d2FA 3,287
206 = Hl 60,240 74,800 A 14,560
01 M2 4l 60,240 74,800 A 14,560
O oHE=Ol 2LHR2E S8 A=Y 27,840
-2&H 90,000 *83] x 1204 & 8,640
- S3HA 60,0003 +83| x 124 & 5,760
— AR 60,000 *83| x 124 & 5,760
- gstH2d 80,000 82 » 1204 & 7,680
O 6o g8 2 6,000& *1,000kg*23| 12,000
O o487 I WIS 40,0003 *80kg*22] 6,400
O E=J 6= WA 3,000,000& »23| 6,000
O 2 X™eldldl MagE s JAHRE 7L
1,000, 000& 14! 1,000
O &= X™eldldl PLC & #IIRE 7Y
4,000,000& =14 4,000
O JIEH #Hl =28 Mg ¥ 228 7¢
3,000,000 =14l 3,000
401 Al&HI 2 28I 10,500 10,500 0
01 A& HI 10,500 10,500 0
O 2 M&EY3 2 HIIE A A
300,000& *35& 10,500
datxzel 5,964 6,660 A 696
201 £B-2dH| 5,964 6,660 A 696
01 At 22l 1,000 1,000 0
O Helot=H™elAlEd WRHEAL St MZE
100& =10, 0000H 1,000
02 =224l 4,964 5,660 A 696
O Helgt+=HelAEUHREEA U2 SRS
380& =4, 0000H 1,520
O Hexzm=zd 22 |l
3.,444,0002 *1 4! 3,444
HIIZS A stF=& 20,539 13,775 6,764
201 Let24d] 11,400 11,400 0
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E - G2 (3) - A - BES 0l &t o8 il HlnE2
02 3322l 11,400 11,400 0
O BAXE HIZM =2(ZH, 23221
g) 40,0003 *3CH*23] 240
O BAXE & d 2z (EAH. ¢332 1
g) 60,0003 *3CH *23] 360
O FAaXg szl (3H, 42322 18)
3,600,000 =3CH 10,800
202 Od4dl 2,209 2,375 A 166
01 =2 LHA YI 2,209 2,375 A 166
O gsHII2 #X=el s 2,209
206 M= Hl 6,930 0 6,930
01 = bl 6,930 0 6,930
O sodld =g 2 6,930
AEMY Il = 158,060 205,226 ANA4T,166
201 Let24dy] 122,060 99,426 22,634
01 At 2teltl 10,980 6,480 4,500
O sa=2 2¢al HEX L AEH HE
220 %30, 000 0H 6,600
O 842 =2l EotE M
54,000 » 100K »23] 1,080
O SA=SXdDl EHSI 22 M
6,0000H *550& 3,300
02 8323l 111,080 92,946 18,134
O XERAALH(SAS AN 400) 50,000
O XA eld(SAE 2 =AU 200)
5,000,000& »2CH 10,000
O ANEHAMISUS(SAE =AXE 404)
1,108, 000& »4CH 4,432
O ANEHAMSUS(SAE 2HE=AHAXE 200)
729,000& »2H 1,458
O S#FNEeg3 (84S AT 40)
90,0003 *4CH+23] 720
O SASJRHIIES HEAHEINI SHRS
4,000 «185CH«12& 8,880
O SASFHD IHEAHSE Il FH KX 22
i 25,590,000 =14l 25,590
O SASFHD +=NHEI NH
5,000& 50001 x4 3 10,000
206 M= Hl 6,000 25,800 A 19,800
01 =8l 6,000 25,800 A 19,800
O SASEHIIZ 287 2 F22y 7Y
30,000& 2004 6,000
401 Al& I 28I 30,000 80,000 A 50,000
01 A& HI 30,000 80,000 A 50,000




2N
CHIIE e

el
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SIAMNEAMS A

BZII=AE 22

SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
O SAEFHII2 HNEAHZIIDN(RFID) DA L
=N 30,000
Mg 20t Hol2 del N3 45,000 96,277 AB1,277
< 13,500
[ia 31,500
201 £B-2%H| 45,000 96,277 AB1,277
= 13,500
s 31,500
01 At 22/l 45,000 96,277 A1, 277
O MEgg 2t HIlI=S fIEX™eldl 45,000
< 13,500
[ia 31,500
L22HANE 23 1,699,659 0 1,699,659
101 @124 dl 249,829 0 249,829
4 DIt Z2XREES 249,829 0 249,829
O 22AlE 29 o] 249,829
-=20 70,7603 x8H x274 155,106
- =54 70,7603 x8H x52= 29,437
— Okt 70,7603 x2F 2K «31 123 «50% 52,646
- =gl 100,000 x8H x12& 9,600
-22=((5,s271) 2¢
120,000 *821 x23| 1,920
—-otM3t & #¢ 70,0002 82! +23] 1,120
201 L2 | 1,239,086 0 1,239,086
01 At 22l 556,294 0 556,294
O A2AE 2812 @ MEsX2el 08
= 60,000,000 =671 & 360,000
O 22AE g UIIEE =2
223]x1,429,500& 31,449
O A2AE OolI=2d 53 =2
23|+5,000,000& 10,000
O AZANE SZEEINI BESZM =2 4,072
O AZAE HIEM =2
0.253]%236,313& 60
O a22A4d EIIEAMN =8 52,113
O A2HAIE TNSRIE 2t =2
1,906,660 »12& 22,880
O CoI=sd As5Alg MAEX A2 ==
= 3,666,660& x12& 44,000
O 22ZAE agotdae =2
2,000,000& x12& 24,000
O 22ZAE &0 etdze AR X E |
150,000 =10 A+ 123 1,800
O HIMTHKel SWott +< 10,000& »4000H 4,000
O 22AE290 OHE #2ZEEE 72 1,920
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Sl BYIEAL e (29l & 2)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2

-SIEA L HEES 80,000& *123] 960

-JIEt 3483 960
02 3524l 682,792 0 682,792

O 22Ad AMEZS HASHUHEH g2 40,000

O datzel dRU#H =5  280,000&*12& 3,360

O 22A4d R84 80,000

O &gl 413,712

-Jae2 750kW*8,320& x 12& 74,880

-ANE2ERI(EA) 9,923kWh*300 104 .4 & 310,789

-ANE2I(E=%) 1,957kWh*652! 104 .4 & 13,281

- M AH | B S 398,948,562%0.037 14,762

O 8=l 10.78E *300L! x450 & 1,456

O &8s #*¢ 6,000

O 22X SxH2H 8| 60,000& *174 1,020

O dIA&HMH X eldl 39kg*7,200A] 2+ *430& 120,744

O HE M 0188 LELA WA

5,000,000& = 1H 5,000

O 22Ad #ZHASE BEE= 10,000

O A22FH4| 1,500

-, &85, 1A S Xl 1,500
202 04| 3,348 0 3,348
01 2L Y| 3,348 0 3,348

O a22Ad Ast & =X I 3,348
206 M = Hl 161,696 0 161,696
01 & bl 161,696 0 161,696

O 243 (20%) 73.5kg*7,200A| 2t *60& 31,752

O 2 A M3 (325#) 60kg*300L! x450& 8,100

O SLeEdE 1.09kg*7,200Al 2t*2, 750& 21,582

O QA24=(40%) 3.82kg*7,200A| 2+ *440& 12,102

O 22 LI0HS(9%) 2.26kg*7,200Al 2+ *440& 7,160

O =gd32H 12.52| B *300L! *3,500& 13,125

O pHZZ X 12.52| E1*300L! *2, 100& 7,875

O 2AYXIH 30,000

O =0 30,000
405 XHaHFE SHI 45,700 45,700
01 M =S FSHI 45,700 45,700

O 28580 2 500, 000& *50H 2,500

O M&EI 72 700,000& =104 700

O 2JI8338)0 2¢ 500, 000& = 1CH 500

O XNAHX ¢ 42,000,000 =1CH 42,000
HY S3EH 1,051,346 1,212,760 N 161,414
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Sl HEFAHE CERED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
= 714,000
& 84,874
= 852,472
HEHAHH 1,051,346 1,212,760 N 161,414
2 114,000
& 84,874
= 852,472
& g =4 63,868 224,980 A 161,112
201 Bt 38,568 23,280 15,288
01 AP 22| H| 16,080 13,080 3,000
O HEOIN fE XL 1,800, 000& *43] 7,200
O HoeE E ™l 1,440,000 23| 2,880
O HEgZsS fE ML 500,000 x4 3| 2,000
O HIAZD| & Xl 500,000 *23| 1,000
O H=s< M2l 3,000,000& x13] 3,000
02 Z2=2=2494| 22,488 10,200 12,288
O MEE2E £HIE AL (5E)
5,400,000 = 1CH 5,400
O ME28 NsSHESFD|)| KAl&e 17,088
-2 ¥ 2 AHA
321,000 =40 1200 & 15,408
-&8D] & EAHE 35,000 «4CH =120 & 1,680
206 M = Hl 25,300 27,300 A 2,000
01 X2 H| 25,300 27,300 A 2,000
O MEE2E 2el+=HU 2 300,000 x30 % 9,000
O MEsE S2+=Hl 23 2
5,000 %2, 0004 10,000
O Me=sE 22/&H 0ty+¢
4502 x1,0000H x14S & 6,300
SlEGHRMY DI ASALE 64,286 61,429 2,857
=2 45,000
o 19,286
101 221 d| 54,236 52,179 2,057
=2 37,965
= 16,271
04 JIZtHIZ22XNSE S 54,236 52,179 2,057
O ot&GE? MY DIESIAIY 2l 4| 54,236
2 37,965
= 16,271
201 et d| 8,250 8,250 0
= 5,775
= 2,475
01 AP 22| H| 8,250 8,250 0
O ot&dl7 MYHJIESAY HH Y= 8,250
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= 5,775
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206 M = Hl 1,800 1,000 800
= 1,260
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01 XHZ H| 1,800 1,000 800
O oldol? MYIIESAME HAZE T3 ¢ 1,800
= 1,260
= 540
SEMHHY =2HEAZ 540,000 515,496 24504
= 54,000
= 54,000
= 432,000
301 dEtE M= 540,000 515,496 24 504
= 54,000
& 54,000
= 432,000
12 JIEtE A= 540,000 515,496 24 504
SEMHHY £&=H 42N 540,000
= 54,000
= 54,000
= 432,000
SEXNgeH 2 14,650 20,204 N5,554
101 e1214| 14,650 20,204 N5,554
04 J|12ZtHIZ22NEES 14,650 20,204 N5,554
O BURZUEI BYN A +iewY
69,7603 *3H 5L x 14 S 14,650
HAMHFK 145,127 106,493 38,634
201 et 24,596 30,173 N5,577
01 AR 22l ] 19,996 22,496 A 2,500
O MYl SEM E22 ME 6,696
- MY IIE01I EE EdIHE HEH
54,0002« 140 A *13] 756
- MYDIIE0D(2A200HY) EE E2oI=
Hl & 72,0002 %2000 A~ *13] 1,440
- N=s & MY D Sl s22 MEH
L= 4,500
O MHIl =4 HE ot AEIAH HMZE
200 8, 0000H 1,600
O 8¢ MYISgHEI(A=20HE) HDEX
ot M & 3,600
O S9 exMHI Hel X 4,500
O B=EM SN BLSE(RZ, IN) 2
o 3,600
02 232%H| 4,600 7,677 AN3,077
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SA BB (S) - MRAY - BAS 0l &k o4 il Hl DS 2
O MEssU0g S22l
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